
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7587.2 × 0.0001 = ________ 3591 × 0.0001 = ________

5764.4 × 0.0001 = ________ 1723.7 × 0.1 = ________

5325.3 × 0.1 = ________ 1395.3 × 0.0001 = ________

5479.4 × 0.001 = ________ 2956 × 0.001 = ________

9787.7 × 0.0001 = ________ 4791.5 × 0.0001 = ________

6560.2 × 0.0001 = ________ 5651.5 × 0.0001 = ________

9788.5 × 0.0001 = ________ 8095.7 × 0.01 = ________

8683.1 × 0.001 = ________ 1677.5 × 0.1 = ________

8722.4 × 0.001 = ________ 6876.2 × 0.0001 = ________

9464.4 × 0.1 = ________ 2937.2 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

7587.2 × 0.0001 = 0.75872 3591 × 0.0001 = 0.3591

5764.4 × 0.0001 = 0.57644 1723.7 × 0.1 = 172.37

5325.3 × 0.1 = 532.53 1395.3 × 0.0001 = 0.13953

5479.4 × 0.001 = 5.4794 2956 × 0.001 = 2.956

9787.7 × 0.0001 = 0.97877 4791.5 × 0.0001 = 0.47915

6560.2 × 0.0001 = 0.65602 5651.5 × 0.0001 = 0.56515

9788.5 × 0.0001 = 0.97885 8095.7 × 0.01 = 80.957

8683.1 × 0.001 = 8.6831 1677.5 × 0.1 = 167.75

8722.4 × 0.001 = 8.7224 6876.2 × 0.0001 = 0.68762

9464.4 × 0.1 = 946.44 2937.2 × 0.1 = 293.72
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